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I am Ali Asadi
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What is your exam number?

What is your card number?
What is your long number?

Ol (509, ST dus Wjgo ) 395 OHl YL G G )0 00 50 (03 Wy 34e 00 polh L jgo 4y -V
. o los
Wasalicy Jadeo 595 0 U 0,5 walgs Wged bod jl oudsS s lan (wmw —A
9pb 2 aSE L lags 9590 50 Wb Jlghw (ol & el lp ol GBog3 (520 359059 Jlgmw (dgl -4
(polo g puy Jid) 03lgils g puaieds oM. JOU Copridige 55 JoronsDigmasi Jidecymse SSolgils ol
b alox Ve 3902 50 Jlgiow ool dy dunlily 500wyl Lol oplod Cumo Jualo W yguo ase oyl 0193 9 5ol
oS Fawly Jols Sledb|
P b Jlghw U auwlod Cuwlss 50 Cagh S asild (o0d 1) (Jlghw Fuwly &5 (5900 50 dailed (o0 Lok Y-
D Ogw
Would you please change this question?
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